ufvf gu<kflnst sfoffio

s< zfvf ufyvi

clj: 207273 ki¥ dixgfsflam smmfem o 1jj<)f

cgdfigt cfo ut 0; dixgfsf]| sh hodf
.St 0. ljJ<)f dixgfsf]cfo cfo cfo
;St q. 1J<)f
1|cfitks >t

1.1.1|dfnkit 15000 2508.0 2508.0
1.1.2|Pslst ;DkQL s< 3500000| 1307123.0f 726276.0] 2033399.0
1.1.3]jxfn s< 200000{ 25770.0 5370.0  31140.0
1.1.5/Joj ;fo s< 1000000| 240385.0f 87950.0/ 328335.0
1.1.6.1]jflif§ ; il s< 150000 1000.0 1000.0
1.1.9]1 1kg s< 50000 0.0 0.0
1.2|{cbo ;Jf zNs 100000| 39000.0 3000.0{ 42000.0
1.2.1]; jiL kilsE z\s 350000 0.0 0.0
1.2.6]crn ;DkQl dioflg zNs 800000| 262946.0 31130.0{ 294076.0
1.2.7];<; kif0{z]f z\s 300000 0.0 0.0
1.3|h: & 0.0 0.0
1.3.2|gS; kf; bit& 300000f 76093.0] 20139.0 96232.0
1.3.3{1; kifl<; tyf JS; 4l btk 1000000 678381.0] 79270.0] 757651.0
1.3.4|gftf kpf)ft btk 135000| 124705.0f 14260.0f 138965.0
1.5.2.10S; tkf; kif<d b:tX 130000 510.0{ 19890.0{ 20400.0
1.5.2.3|#< JMlkpfDft btk 700000 390270.0{ 140600.0] 530870.0
1.7.2|cho b:tk 450000] 38940.0[ 12420.0 51360.0
1.7.1|b)* hkjfgf 0.0 0.0
1.7.2|ef*f tyf jxinj cfo 800000| 50120.0f 14000.0] 64120.0
1.7.7|klhs<)f btk 125000] 47550.01 10050.0{f 57600.0
3.1.2[ljaqi tyf ji*knf* 260000 0.0 0.0
3.1.2.0|dfnkfx <hli*fg z\s 4700000] 200335.0 200335.0
W< ; b<:ofxf 0.0 0.0
hDdf 15065000| 3485636.0| 1164355.0] 4649991.0




